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1. Expand 23,579.

° Watch Video Solution

2. Compare 21,342 and 9,876.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uzJnC2dcXdxx
https://dl.doubtnut.com/l/_3vURc9Dxw7qP

3. Compare 57,986 and 58,320.

° Watch Video Solution

4.Find the number of all the three-digit numbers in Hindu-Arabic System.

° Watch Video Solution

5. List out all three-digit numbers formed by using the digits 2,7 and 9.

° Watch Video Solution

6. Arrange the following in ascending order

~3, — 8,10, —2,7,15, — 12, 6.

A—12, —8 —3, —2 6,715, 10.

B.—12, — 8, —3, —2,6,7, 10, 15.


https://dl.doubtnut.com/l/_nVHQUcwVOQRz
https://dl.doubtnut.com/l/_Fj8D0MrbfSid
https://dl.doubtnut.com/l/_D0x8bTHKyTiX
https://dl.doubtnut.com/l/_0v7p06ZVbMIS

C.—12, — 8, —2, —3,6,7,10, 15.

D.—2, —8, —3, —12,6,7,10, 15.

Answer: B

o Watch Video Solution

7.Add 5 to -3 and show the addition on the number line.

o Watch Video Solution

8. Find the value of 4+(-5).

o Watch Video Solution

9.Evaluate: 86 — 72 + 33 — 48 + ( — 14) — ( — 26)

A 11


https://dl.doubtnut.com/l/_0v7p06ZVbMIS
https://dl.doubtnut.com/l/_RIawEdmIBWhY
https://dl.doubtnut.com/l/_kg7t1h9hQ7dK
https://dl.doubtnut.com/l/_efOC7yhATjaX

B.13

C.7

D.12

Answer: A

° Watch Video Solution

10. Evaluate:

(i) 4752 +— 132

(41)3564 <+ 22
A. ()36

(i7)162


https://dl.doubtnut.com/l/_efOC7yhATjaX
https://dl.doubtnut.com/l/_nIREZzfK7bdT

Answer: A

° Watch Video Solution

11. Abhi covers a certain distance in 120 minutes. He covers half of the
distance in 2/3 of the time.

Find the time taken to cover the remaining distance.

° Watch Video Solution

12. Malini and Manoj visited Kulu Manali. They observed the temperature
of the place as follows.

Initially there was 10° C later there was a 4° fall in the temperature. Again
there was 2° rise, 5° fall, 6° riseand 3° fall. Find the status of

the temperature at the end.

[ - 1


https://dl.doubtnut.com/l/_nIREZzfK7bdT
https://dl.doubtnut.com/l/_a4nB034yxFhe
https://dl.doubtnut.com/l/_KKv2LrQXxX0h

| 0 Watch Video Solution

13.Simplify: 4 x 3 — 2+ 16 + 8

o Watch Video Solution

14.Simplify:12 +4 -3 x 6 + 7

o Watch Video Solution

15. Simplify 92 — [18 4 16 + 4{26 — (14 — 7 — 3)}]

A 812
T 11

80
" 496
0
11

0. 97
14

Answer: A


https://dl.doubtnut.com/l/_KKv2LrQXxX0h
https://dl.doubtnut.com/l/_UIuuCiruMxxI
https://dl.doubtnut.com/l/_M4Crl6zdrw6l
https://dl.doubtnut.com/l/_kXukqY5RugJy

° Watch Video Solution

16. If P means multiplication, Q means division, R means addition and S

mens subtraction, than find the value of 36P48Q16R15523.

° Watch Video Solution

Very Short Answer Type Questions

1. The number of digits in the Hindu-Arabic number systemis___ .

° Watch Video Solution

2. The place value of the digit 3 in the number 2356 is___ .

A. 30

B.3


https://dl.doubtnut.com/l/_kXukqY5RugJy
https://dl.doubtnut.com/l/_9RJpIK4CtQz2
https://dl.doubtnut.com/l/_0dLyXFTUQbUa
https://dl.doubtnut.com/l/_iCYBWN7rS5we

C. 300

D. 3000

Answer: C

o Watch Video Solution

3. The digit whose place value is always the same regardless of its

position or place in a given numberis__ .

Al

B.0

C.2

D.3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iCYBWN7rS5we
https://dl.doubtnut.com/l/_LgdiaFtlbWh3
https://dl.doubtnut.com/l/_h1J6qxkzDfD3

4. The difference between the place value and face value of the digit 6 in

the number 9867 is__ .

A 24

B. 34

C.54

D. 64

Answer: C

° Watch Video Solution

5. The number of 4-digit numbers in the Hindu Arabic systemis .

o Watch Video Solution

6. The number of 3-digit numbers that can be formed using the digits 3, 5

and 7 without repetitionis__ .


https://dl.doubtnut.com/l/_h1J6qxkzDfD3
https://dl.doubtnut.com/l/_2ugXDeGVhSBt
https://dl.doubtnut.com/l/_gbS9A5jC4aam

A3

B.4

C.5

D.6

Answer: D

o Watch Video Solution

7.The sum of the successor and the predecessor of 100is___ .

A. 198
B. 199
C. 200

D. 201

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gbS9A5jC4aam
https://dl.doubtnut.com/l/_diKXbSI3sf2f

8.The difference between the greatest and the smallest numbers formed
by all the digits 2, 3,5, and 7is XY ZX, where X, Y, Z are digits, then
Xis_ .

A5

B.8

C.9

D.10

Answer: A

o Watch Video Solution

9. The number of digits in the successor of the greatest 4-digit number

is

A 4


https://dl.doubtnut.com/l/_diKXbSI3sf2f
https://dl.doubtnut.com/l/_Z7dHTKlyw9hu
https://dl.doubtnut.com/l/_D5npAmPNRJ3B

B.5

C.3

D.6

Answer: B

° Watch Video Solution

10. A is a 3 digit number and B is the number formed by reversing the
digit of A. The face value of the digit in the tens place of AB is .
(B< A)

A.9

B.1

C.0

D.2

Answer: A

[ - 1


https://dl.doubtnut.com/l/_D5npAmPNRJ3B
https://dl.doubtnut.com/l/_XWf9fbKq8L4S

| @J Watch Video Solution

11. Match the following Columns A to B

(a) Arab O @ 1w
(b) Mahasamudram () (q) 10
(c) Kharab () (@ 1072
(d) Googol () () 10100

° Watch Video Solution

12. The absolute value of -36is__.

D.1

Answer: B


https://dl.doubtnut.com/l/_XWf9fbKq8L4S
https://dl.doubtnut.com/l/_OZVxyxuaOynQ
https://dl.doubtnut.com/l/_WQwdQRpDanMF

o Watch Video Solution

13.7]1-8=___.

Al

D.2

Answer: B

o Watch Video Solution

14. 4+(-8)-7 =

o Watch Video Solution



https://dl.doubtnut.com/l/_WQwdQRpDanMF
https://dl.doubtnut.com/l/_fmL1tMEtGeWG
https://dl.doubtnut.com/l/_6AAqHJqJztJw

15. The sum of two integers is -6 and one of them is 7, then the other

is

A 13

B.-13

C.10

Answer: B

o Watch Video Solution

16. Which of the following statement is true?

A. The product of two negative integers is negative.
B.The sum of a negative integer and a positive integer is always
positive.

C. The product of two positive and two negative integers is positive.


https://dl.doubtnut.com/l/_TDTIX5TUrVyq
https://dl.doubtnut.com/l/_GlA9CnSGQ9sh

D. The product of any number of negative integers is negative.

Answer: C

° Watch Video Solution

17. Which of the following is true ?

A:-12 + (-15) B: -16 - (12) C: -14 - (-12)

AB>C>A

B.A+ B >C

c.C>A>B

DA< B<C(C

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GlA9CnSGQ9sh
https://dl.doubtnut.com/l/_rdS9cFOAkS9J

18. Which of the following properties are true?
(A) (14) + (- 2) =7
B)Y(—14)+2= —7
Q(-14)+(-2)=T7

A A B

B.B,C

CAC

D.A, B, C

Answer: B

o Watch Video Solution

19. Which of the following statement is true?

A.If there is adrop of 4°C, from — 10°C, the resultis —6°C.

B. 525 m above sea level is denoted as -525 m


https://dl.doubtnut.com/l/_QO9XiQubeyWV
https://dl.doubtnut.com/l/_XqeBQvGxC8PP

C.|-51-3[ = -8

D. The absolute value of an integer is never less than the integer itself.

Answer: D

o Watch Video Solution

20. Match the following Column A to Column B

@ 235 O () 30
(b) 6 (<2) (-3) () (@ -36
© (-15) (-2) () @® 30
d 922 (O @ 36

o Watch Video Solution

2.8 -3 — 2=

o Watch Video Solution



https://dl.doubtnut.com/l/_XqeBQvGxC8PP
https://dl.doubtnut.com/l/_tVNuxzooojw1
https://dl.doubtnut.com/l/_qj6wUpQL4JIk

226 +3+3=

A .6

B.5

C.7

D.8

Answer: B

° Watch Video Solution

23.5 x 24+ 4= .

A 12

B.14

c.11

D.13


https://dl.doubtnut.com/l/_GcJyHHzi8hkK
https://dl.doubtnut.com/l/_SB4TfaL2HSeT

Answer: B

o Watch Video Solution

24.9x (—13) — 13= .

A.130
B.-130
C.131

D.-131

Answer: -130

o Watch Video Solution

25153 x5—10=__.

A.15


https://dl.doubtnut.com/l/_SB4TfaL2HSeT
https://dl.doubtnut.com/l/_iKsZAfLMTH3V
https://dl.doubtnut.com/l/_RrUL3oQRDEg0

D. 20

Answer: A

o Watch Video Solution

26.5 -5+ 5= .

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RrUL3oQRDEg0
https://dl.doubtnut.com/l/_gVz4G7qDVjnJ
https://dl.doubtnut.com/l/_p9xtvabxpqWn

27. Which of the following is false ?

A2XT7T—-T7T=0

B.2+3x2=10

Cl6=-8+8=1

D. All of these

Answer: D

o Watch Video Solution

28. Which of the following is true ?

Ad4+-4+1=2

B.b—2x3=9

C.Both (a) and (b)

D. None of these


https://dl.doubtnut.com/l/_p9xtvabxpqWn
https://dl.doubtnut.com/l/_bVPeUHCPYpg2

Answer: A

° Watch Video Solution

29. Match the following Column A to Column B

(1) 3X2-8++4 () (p) 14
(b) O (9 12
(©) 18-9+3x5 () (@ -

(d) 72-15%20+5 () () 3

° Watch Video Solution

Short Answer Type Questions

1. Write the following numbers in words.
(i) 5,00,78,90,500 (ii) 1,01,00,17,000

(iii) 90,00,09,050

e


https://dl.doubtnut.com/l/_bVPeUHCPYpg2
https://dl.doubtnut.com/l/_KRnmrbtEYlul
https://dl.doubtnut.com/l/_t3YppQQtECWA

| ¥ Vvatch Video Solution J

2. Write the following in figures.
(i) Six crore six lakh and six thousand
(ii) Seven arab five crore three hundred and one

(iii) Eighty eight crore ninety nine lakh fifty five thousand and seventy four

° Watch Video Solution

3. Find the difference between the place values of the two 5's in 895435.

° Watch Video Solution

4. Write all the possible three-digit numbers using the digits 5, 0 and 7

without repetition of the digits.

° Watch Video Solution



https://dl.doubtnut.com/l/_t3YppQQtECWA
https://dl.doubtnut.com/l/_WsT03uzUfdYo
https://dl.doubtnut.com/l/_7u2ZdMOTCmYE
https://dl.doubtnut.com/l/_Z1mTQ8ZjHUti

5. X is the number of two-digit numbers formed by 3, 5, or 7, when the
repetition is allowed. Y is the number of two-digit numbers formed by 3,

5,0r7, when the repetition is not allowed. Find by how much X exceeds Y.

° Watch Video Solution

6. Write all the possible 4-digit even numbers using the digits 5, 8,9 and 4

when the repetition is not allowed.

° Watch Video Solution

7. Find the difference between the greatest 5-digit number and the
greatest 4-digit number formed using the digits 7, 6, 2, 5, 1 when the

repetition is not allowed.

° Watch Video Solution



https://dl.doubtnut.com/l/_2r1OECawr4Sd
https://dl.doubtnut.com/l/_EuhLFlgos52y
https://dl.doubtnut.com/l/_z1XX9dHFN9sC

8. A and B are two numbers. The non-zero digit in the crore's place of A'is
3 less than the digit in the hundreds place of B. The non-zero digit in 10's
place of B is 2 less than the number in 10's place of A. If both the numbers
have equal number of digits and all the remaining digits are equal but

not zeros, then find the least possible difference between A and B.

o Watch Video Solution

9. Write the expanded form of twenty four lakh seventy five thousand and

fifty six.

o Watch Video Solution

5
10. What should be subtracted from — 1 to get —1?


https://dl.doubtnut.com/l/_fva8bxgSap0P
https://dl.doubtnut.com/l/_39kgV2MLlcHf
https://dl.doubtnut.com/l/_Jxc1367Yx1Rk

1
An T — —
swer: 1

° Watch Video Solution

11. Represent the following as integers.
(a) Gain of Rs. 28

(b) Loss of Rs. 48

(c) 36 m below sea level

(d) 12° C rise in temperature

(e) 5°C fall in temperature

° Watch Video Solution

12. Arrange the following integers in ascending order.
(I) 3a -5, 0’ -2,-7, -1,4

(i) -15,-12, 11,13, 10, 5, -9


https://dl.doubtnut.com/l/_Jxc1367Yx1Rk
https://dl.doubtnut.com/l/_KJTMjMmyUFH3
https://dl.doubtnut.com/l/_lXTr4kmsa3TU

A. (i) 7,-5,-2,-1,0, 3, 4.

(ii) -15,-13,-12,-9, 5, 10, 11.

B. (i) -7,-5,-2,-1,0, 3, 4.

(i) -15,-12,-13,-9, 5, 11, 10.

C.(i) 7,-1,-2,-5, 0, 3, 4.

(i) -15,-13,-12,-9, 10, 5, 11.

D. (i) -1,-5,-2,-7,0, 4, 3.

(i) -15,-13,-12, -9, 5, 10, 11.

Answer: A

o Watch Video Solution

13. Write the following in descending order.
(i) -8, 6,9, 13,-23, 14, -16, 25

(ii) 42, -43, 64, -86, 120, -115

o Watch Video Solution



https://dl.doubtnut.com/l/_lXTr4kmsa3TU
https://dl.doubtnut.com/l/_VPQa3Ng3F8ex

14. Write the statements given below in symbols and list the elements.

(i) Integers lying between -15 and -8.

(ii) Integers greater than -5 and less than 1.

If A and B are the number of elements in the sets (i) and (ii), respectively,

then find the value of |-(A-B)|.

o Watch Video Solution

15. Find the value of
(i) |-15] + [12] (ii) -[13[-7|

(i) [17]--9]

o Watch Video Solution

16. X is integer in m representing '16 m below sea level'. Y is an integer in
Rs. Reresenting withdrawl of Rs. 24. Z is an integer in Rs. Representing a

gain of Rs. 32. Find the following


https://dl.doubtnut.com/l/_VPQa3Ng3F8ex
https://dl.doubtnut.com/l/_u1mxpbRnBeGG
https://dl.doubtnut.com/l/_AQUX4PnETy1Z
https://dl.doubtnut.com/l/_NOWA5l4I2o2m

(i) [X[-12] i) ||yl

(iii) [X] + |V

A. (i) 16 (ii) 9 (iii) 40

B. (i) 16 (ii) 8 (iii) 41

C. (i) -16 (ii) 8 (iii) 40

D. (i)-15 (ii) 9 (iii) 40

Answer: (i) -16 (ii) 8 (iii) 40

° Watch Video Solution

17. A is neither positive nor negative B=-|-8|, C is the absolute value of -12.
(i) A+B+C (ii) |B + C|

Compare 2B, Aand 3C

° Watch Video Solution



https://dl.doubtnut.com/l/_NOWA5l4I2o2m
https://dl.doubtnut.com/l/_TR4htATm2VOp

18. Do the following simplification .3 + 5-6 -4

° Watch Video Solution

19. Evaluate :

(1)14625 = 25 (#4)15120 = 144

° Watch Video Solution

20. An integer P is added to another integer Q, then the result is R. If R is
-12 more than P, then find Q. Also find R when P is 42.

A. 30

B.32

C.20

D. 23

Answer: 30


https://dl.doubtnut.com/l/_ZDDkUW0jYFdg
https://dl.doubtnut.com/l/_wbtjdLiAjqUl
https://dl.doubtnut.com/l/_Gj4cYie3pTYF

° Watch Video Solution

21. A basket contains 120 fruits from which 15 are sold and 42 are spoiled.
After removing the spoiled fruits, 36 new fruits are placed in the basket.
Find the number of fruits in the basket finally.

A. 78

B. 80

C.89

D. 99

Answer: D

o Watch Video Solution

22.45 — 26 +~ 13 x 6 4+ 10

A. 40


https://dl.doubtnut.com/l/_Gj4cYie3pTYF
https://dl.doubtnut.com/l/_4uhI2smJ3dgK
https://dl.doubtnut.com/l/_o922MA3cXyh7

B.-49

C.43

D.-43

Answer: 43

o Watch Video Solution

23.66 +5—15x3+27T+-9x3-24+-8+47

A.-29

B.18

C.20

D.-19

Answer: -19

o Watch Video Solution



https://dl.doubtnut.com/l/_o922MA3cXyh7
https://dl.doubtnut.com/l/_VWdpuWkilYmO
https://dl.doubtnut.com/l/_jiqUCejkU5nq

24.[{12 - 14— 8 + 7} — 15|

o Watch Video Solution

25.52 — [48 + 12 x 6{6 — (8 x 3— 6 — 4) }]

o Watch Video Solution

26.242 — [360 — 248 + {180 + 7 x (2 — 26 — 16) }|

o Watch Video Solution

27.Simplify: 25 + [14 — 18 + {12 of 5 — (16 + 4 x 3 — 2)}]

A. 23
B. 76

C.34


https://dl.doubtnut.com/l/_jiqUCejkU5nq
https://dl.doubtnut.com/l/_ymwVlXXnPo8i
https://dl.doubtnut.com/l/_a3yK6PqkkgkK
https://dl.doubtnut.com/l/_MqxNNs7vzEen

D.71

Answer: D

° Watch Video Solution

28.[78 — {75 — (76 — 72 — 75) }]

° Watch Video Solution

29.{16 — (4+ 18 + 6 — 7 —5) x 5]

° Watch Video Solution

30. [3077 — 85{32 + 8 x (24 — 36 — 18) }|

° Watch Video Solution



https://dl.doubtnut.com/l/_MqxNNs7vzEen
https://dl.doubtnut.com/l/_oMeFw2RIYFVK
https://dl.doubtnut.com/l/_7uVsTDktWtkC
https://dl.doubtnut.com/l/_wem5uuHaxwU8

31.4940 = [{12 + 16(48 — (8 ~ 15+ 6)) }]

° Watch Video Solution

32.If P, Q,R and S represents 'X’, =, + and — respectively, then

find the value of 60Q15P35525R45.

° Watch Video Solution

33. Which integer should be placed in the place of z in

11 + 48 + (14 — z) + 5 x [ — 3] such that the result is zero?

A.2

B.3

D.4

Answer: 2


https://dl.doubtnut.com/l/_SuEbOm6K5nKM
https://dl.doubtnut.com/l/_AVCs26WpaL2f
https://dl.doubtnut.com/l/_HMd5Wb9SThGM

° Watch Video Solution

Concept Application

1. If P is a 3-digit number and Q is the number formed by reversing the

digits of P, then find the difference between the place value of the digits

in the tenth place.

Al

B.9

C.o

D. Cannot say

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HMd5Wb9SThGM
https://dl.doubtnut.com/l/_GBUpkmGeetgM

2. A shopkeeper brought 12 dozen eggs out of which 2 dozen the

damaged. Afer removing the damaged eggs, 8 eggs are replaced.

Find the remaining number of eggs with the shop-keeper finally.

A. 8 dozen

B. 119

C.10 dozen

D. 121

Answer: B

o Watch Video Solution

3.If A, B, C and D represents X, <, + and - respectively, then find the

value of 90B3A5D3C9.

A.12

B. 24


https://dl.doubtnut.com/l/_RPglZW5hufzs
https://dl.doubtnut.com/l/_pssHcciyaTUl

C.156

D. 30

Answer: C

o Watch Video Solution

4.The cost of a pen is the largest two-digit number (in Rs.). The cost of a
text book and geometry box respectively are the successor and
predecessor of the cost of the pen. Find the sum of the costs of the text
book and geometry box (in Rs.)

A. 197

B. 198

C. 200

D. 201

Answer: B



https://dl.doubtnut.com/l/_pssHcciyaTUl
https://dl.doubtnut.com/l/_nPmPRoeb1rlX

| ¥ vvatch video sSolution J

5.P is neither positive nor negative, Q =-|-9| and R is the absolute value of
-13.
Which of the following is the value of P +Q +R?

A. 21

B. 22

C.4

Answer: C

° Watch Video Solution

Assessment Test



https://dl.doubtnut.com/l/_nPmPRoeb1rlX
https://dl.doubtnut.com/l/_5or3IWlUX0Q3

1. Write the expanded form of the following and write in words.

(i) 32,008 (ii) 7,00,050 (iii) 9,01,020

° Watch Video Solution

2. Write the following numbers in figures.

(i) Seventry nine crore seven hundred and seven

(i) Eighty nine lakh sixty four thousand and two

(iii) Four arab thirty two crore sixty eight lakh thirty four thousand and

seventry three

° Watch Video Solution

3. Write all the possible 2-digt numbers using the digits 3, 4 and 5

without repeating any digit.

° Watch Video Solution



https://dl.doubtnut.com/l/_ghPJu1nzwVG0
https://dl.doubtnut.com/l/_zOhsBqbANzo9
https://dl.doubtnut.com/l/_3ADeUABTPZb9
https://dl.doubtnut.com/l/_Lk6IXAcq4GyK

4. Find the difference between the greatest and the smallest four-digit

numbers formed by using all the digits 8, 6,7 and 4.

A. 4000

B. 4080

C.-4080

D. 4086

Answer: 4086

o Watch Video Solution

5. How many six-digit numbers are there in Hindu-Arabic system?

A. 2,00,000

B. 9,00,000

C. 8,00,000

D. 7,00,000


https://dl.doubtnut.com/l/_Lk6IXAcq4GyK
https://dl.doubtnut.com/l/_97x02ZYlovS0

Answer: B

o Watch Video Solution

6. Simplify and show it on the numbers line:: -5+4-3-2+7

o Watch Video Solution

7.Evaluate : 35-28 + 6-(-4)

o Watch Video Solution

8.Evaluate: (i) 27225 + 55 (ii) 44616 + 156

o Watch Video Solution

9.Simplify: 3 +2— 6+ 3 x 7


https://dl.doubtnut.com/l/_97x02ZYlovS0
https://dl.doubtnut.com/l/_DU3wapl0yoZk
https://dl.doubtnut.com/l/_KqeK35tAYJQH
https://dl.doubtnut.com/l/_fdo2T6AeWx5G
https://dl.doubtnut.com/l/_uhLkT10AXrWA

A7

C.8

D.9

Answer: -9

o Watch Video Solution

10. Simplify: 37 — 24 of 4+ 16 x 5

o Watch Video Solution

1. Simplify : 36 — 369 = [ — 72+ 24 x 5+ 2(17 — 7 — 18) ]

o Watch Video Solution



https://dl.doubtnut.com/l/_uhLkT10AXrWA
https://dl.doubtnut.com/l/_QxqEkAoIjDy1
https://dl.doubtnut.com/l/_Xb9sV1B6RIcU

12. Which integer should be placed in the box such that the result is 2?

[{(20 — 18 — O) + 2} x 4] + 14

A3

B.33

D.30

Answer: 3

o Watch Video Solution

13. How many 4-digit even numbers can be formed using the digits 5, 6, 7

and 8 without repeating any digit?

A.12

B.10


https://dl.doubtnut.com/l/_U6pRFV9at8lu
https://dl.doubtnut.com/l/_cEMOMINn4iR2

D.8

Answer: 12

o Watch Video Solution

14. Write 13, 78, 57, 632 in the expanded form.

10, 00, 00, 000 + 3, 00, 00, 000 + 70, 00, 000 + 80, 000 + 50, 000 + 7,

10, 00, 00, 000 + 3, 00, 00, 000 + 70, 00, 000 + 8, 00, 000 + 50, 000 + 7

10, 00, 00, 000 + 3, 00, 00, 000 + 70, 00, 000 + 8, 00, 000 -+ 50, 000 + 7

10, 00, 00, 000 + 3, 00, 00, 000 + 70, 00, 000 + 8, 00, 000 + 50, 000 + 7

Answer: C


https://dl.doubtnut.com/l/_cEMOMINn4iR2
https://dl.doubtnut.com/l/_7RsqV0MDFVsT

° Watch Video Solution

4

15. The sum of the rational numbers — — and — — is:
19 57

28
Answer: — —
57

o Watch Video Solution

Crossword


https://dl.doubtnut.com/l/_7RsqV0MDFVsT
https://dl.doubtnut.com/l/_wPGroUhoMZJe

1.

Across
4. The sign of integers less than zero

6. A number that comes just after another

10. Expressing a number in words
11. An integer which is neither positive nor negative

|
|
|
7. The whole numbers and negative natural numbers together |
|
|
12.  The order of operations |

° View Text Solution



https://dl.doubtnut.com/l/_PzOLBBAQLIxS

